127

T
)

= ehjol7]

<F
d
__oL

el
Nfo

pid
ojn

T

22 x 53

9x11
22 x3x%x12

7
100 - 30

o
<
ol
o
—~ ¥ ~
<F _le
< M X
q_nw._ O_H o\
o(_u\ — Il
|
% [
N S ©olp
© S ®

9x11
22x3x12




1
7|orn 2 73% 4% VER T, 0.216666--- < uf, A% x 9]
2?
O 25 @ 30 ® 41 @ 55 )60

13

® 0.216666 - -- = 0.216

_216-21 195

900 900 60




1
x+-=1y+ - =120, 2+ — o F27
y Z

1 1 o w -1
x+—=1,Y+2—Z=1EXQ'ZE)1°1]3'&3]'°4€EE,)C:)IT,
1
Z:
2(1-y)
1 _
z+ — °f thdstH
2x
1 1 y
2 5o =
2x 21-y)  20-1)
_ 1 y
21-y) 2(1-y)
2(1-y) 2




